CHS Environmental Science                                                       Investigating Ecosystems


Unit 1 - Living Environment
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Past Paper Questions

Section 3 – Human Influences
Core = N3/4

Extension = N5

Human Influences – Core

Section 1 – Human Activities
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(b)

(d)

(iv) Give two effects on the local community of the whale catch being
limited.

2

(v) Do you think that Japan should be allowed to catch more whales?
your answer.
YES/NO

Give a reason for your answer.

Reason

The IWC is an organisation for the protection of the environment at an
international level. Name an organisation at a local level for the
protection of the environment.

Name one animal, not found naturally in Scotland, in danger of
extinction.

Suggest a reason why fish stocks are declining.

In Europe, each country is only allowed to catch an agreed quantity of

fish per year. the correct term for this agreed quantity.

fishing quota Sfishing limit annual limit
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(iii) Rat control experts came fr ats

m New Zealand to poison the

Suggest one disadvantage of using experts from New Zealand.

(iv) Tick (/) one box to show what you think would happen to
biodiversity on the island after all the rats had been poisoned and
give a reason for your answer.

Biodiversity increases

decreases

stays the same.

Reason.

(v) Rats did not prey on the eggs and young of Herring gulls as much

as they did on the Manx shearwater.

uggest a re:

n why.
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Name one type of pollution which can affe
describe its effect.
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Effect
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The panda is a mammal in danger of global e
‘marine mammal which is in danger of global extinction.
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Section 2 – Indicator Species
[image: image12.emf]
[image: image13.emf]
[image: image14.emf]
Section 3 – Conflicts between Land Use
[image: image15.png]Read the passage and answer the questions which follow.

Slip Ups on Ben Nevis

Ben Nevis, Scotland’s highest mountain, is very popular with walkers, mountain bikers
and mountaineers. This heavy recreational use has caused problems such as erosion
and litter. Plastic bottles, drink cans and food wrappers are part of this litter.

A recent litter collection on Ben Nevis revealed that 55% of the litter collected consisted
of banana skins and 15% consisted of plastic bottles. The remainder consisted of

drink cans and food wrappers. People eat bananas to get an energy

boost, then leave the skins behind believing that these will

break down. The banana skins will take up to two years

to rot on Ben Nevis in the very cold
temperatures there. Apple cores
will rot down
much more
quickly.

(a) (i) Name two leisure activities which take place on Ben Nevis.

2 1

(ii) Choose one of the environmental impacts caused by recreational
use and suggest a solution to this problem.

Impact

Solution
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Section 4 – Organisations & Policies
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[image: image23.png]Legislation has limited the number of cod which can be caught. At
what level does this legislation operate?

Circlyour answer.

Local National International





[image: image24.png]Scottish Natural Heritage (SNH) funded this project on the island.

Name one other national organi
environment.

tion for the protection of the

Name one bird that is in danger of extinction in Scotland.
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[image: image26.png](a) The sketch map shows an area of Scotland, which has been developed as
a Nature Reserve.

Estuary

CARI
PARK

N

T

>EIEER|

From the sketch map, answer the following questions.

Nature Reserve
Boundary

Track
Road

Bridge

Disused Railway
Permanent water
Grazing land
Mud at low tide
Marsh

Railway museum
Historic House
Visitor Centre

Bird hide
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Human Influences – Extension

Section 1 – Human Activities
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[image: image30.png]What has happened to the corncrake?

The corncrake lives in tall grass where it nests
on the ground. Itis found in some remote areas
of Scotland where there are damp meadows or
traditionally farmed hayfields. It eats small 2 e
invertebrates and seeds. There were 890 males ;;’:/y

in 1978, but this went down to 445 in 1993. &b/: &\&\\\

This decrease was partly linked to

&=

mechanisation in farming. A species l
enhancement action plan was implemented in =,
1992. In 2006, the number of males

was 1150.

Species enhancement action plan.

Grass is cut, starting from the centre of the field and working outwards.
This allows the corncrake to escape from the grass mower.

Grazing of grass by farm animals is managed so that long grass is always
available during the corncrake breeding season.

The spread of predators such as mink is prevented.

(a) Describe the habitat of the corncrake.

(b) Underline the correct answer.

Between 1978 and 1993 the number of corncrakes

halved doubled stayed the same

(¢) In 1993, the corncrake was an endangered species. What does this mean?

(d) Suggest why mechanised grass cutting resulted in a decrease in the
number of corncrakes.

(e) Give two ways in which the action plan helped increase the corncrake
population.

1

2





Section 2 – Indicator Species

[image: image31.png]Another investigation was carried out into the abundance of species
in two streams, A and B.

The tables below show data for the four indicator species whose abundance
was measured in each stream. The data is recorded as a percentage of the
total catch.

The relative abundance of indicator species in a freshwater community
can be used to assess the level of pollution.

Stream A

Stream B

Indicator species

Percentage of
total catch (%)

Indicator species

Percentage of
total catch (%)

Mayfly larvae 20 Mayfly larvae 5
Stonefly larvae 30 Stonefly larvae 15
Waterlouse 8 Waterlouse 20
Rat-tailed maggot 1 Rat-tailed maggot 4

(i) Using information from the

by:
1
2
3

tables, complete the bar graph below

adding the scale and label to the vertical (v) axis;

adding a label to the horizontal (x) axis;

completing the bar graph and key.
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Section 3 – Non-Native Species
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Section 4 – Conflicts between land use
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[image: image39.png]The diagram below shows some of the outdoor activities to be found in
the Fort William area.

BEN NEVIS

Fort William
“Outdoor Capltal of the UK”

(i) Describe a possible conflict of interest, and its resolution, between
two named user groups selected from the activities diagram.

Group 1

Group 2

Possible conflict

Resolution
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Section 5 – Organisations & Policies
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Essay Questions
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